Soil and Food Practice Quiz
Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
1.
Elemental iodine

	a.
	is only useful as a disinfectant.

	b.
	is very poisonous.

	c.
	is found in grains like rice.

	d.
	deficiency can cause goiter which can lead to deafness.

	e.
	not found in living organisms.


____
2.
Half of the calories that humans consume come from a combination of all of the following except

	a.
	wheat.

	b.
	soybean.

	c.
	corn.

	d.
	rice.

	e.
	potato.


____
3.
Which of the following types of agriculture is most characteristic of developing countries?

	a.
	plantation agriculture

	b.
	traditional intensive agriculture

	c.
	traditional subsistence agriculture

	d.
	industrialized agriculture

	e.
	high-input agriculture


____
4.
All of the following crops are commonly grown in plantation agriculture except

	a.
	corn.

	b.
	bananas.

	c.
	cacao.

	d.
	coffee.

	e.
	sugarcane.


____
5.
The type of agriculture that supplements solar energy with human labor and draft animals is

	a.
	plantation agriculture.

	b.
	traditional intensive agriculture.

	c.
	traditional subsistence agriculture.

	d.
	industrialized agriculture.

	e.
	minimum-tillage agriculture.


____
6.
Intercropping involves growing

	a.
	several varieties of one crop on a plot of land.

	b.
	several different crops on a plot of land.

	c.
	trees and crops together.

	d.
	crops in alternate rows.

	e.
	rotating crops from year to year.


____
7.
Agriculture can harm the land through

	a.
	soil erosion.

	b.
	salinization.

	c.
	reduction in microorganism diversity.

	d.
	All of these answers.

	e.
	None of these answers.


____
8.
Most soil erosion is caused by

	a.
	moving water.

	b.
	wind.

	c.
	earthquakes.

	d.
	volcanoes.

	e.
	excess heat.


____
9.
The greatest source of water pollution is

	a.
	sediment from erosion.

	b.
	runoff of agricultural chemicals.

	c.
	drainage from urban areas.

	d.
	industrial point sources.

	e.
	runoff of animal waste from farms.


____
10.
Currently, topsoil is eroding faster than it forms on about ____ of the world's croplands.

	a.
	one-fourth

	b.
	one-third

	c.
	one-half

	d.
	two-thirds

	e.
	three-quarters


____
11.
The major erosion of U.S. cropland soil occurs in

	a.
	the Great Plains.

	b.
	the Southeast.

	c.
	areas whose crop output is not important.

	d.
	areas with soil of low to very low fertility.

	e.
	the Northeast.


____
12.
Today, soil on agricultural land in the United States is

	a.
	forming 16 times faster than it is eroding.

	b.
	forming 6 times faster than it is eroding.

	c.
	is eroding 6 times faster than it is forming.

	d.
	is eroding 16 times faster than it is forming.

	e.
	is eroding 2 times faster than it is forming.


____
13.
Contour farming involves

	a.
	converting a steep slope into a series of terraces.

	b.
	building a series of small dams.

	c.
	plowing at right angles to slopes.

	d.
	plowing straight down slope or straight up slope.

	e.
	None of these answers.


____
14.
Planting crops in alternating rows of close-growing plants

	a.
	creates windbreaks.

	b.
	is called strip cropping.

	c.
	is called crop rotation.

	d.
	increases erosion rates.

	e.
	ally cropping.


____
15.
Animal manure is normally not used as a crop fertilizer on large farms because it

	a.
	is low in fertility.

	b.
	lacks soil microorganisms.

	c.
	degrades soil structure.

	d.
	is often unavailable or too costly to transport.

	e.
	smells bad.


____
16.
Which of the following about genetically-modified foods is true?

	a.
	it has been proven to be perfectly safe.

	b.
	they may reduce the need to apply large amounts of pesticides.

	c.
	there is considerable evidence that the cause environmental problems.

	d.
	there is no real interest in regulating them.

	e.
	All of these answers.


____
17.
The correct sequence for the efficiency of converting grain into animal protein for the following animals, (in terms of kilograms of grain needed per kilogram of body weight), from most efficient to least efficient is

	a.
	beef cattle, pigs, chicken, catfish

	b.
	pigs, beef cattle, catfish, chicken

	c.
	beef cattle, chicken, pigs, catfish

	d.
	catfish, chicken, pigs, beef cattle

	e.
	catfish, pigs, chicken, beef cattle


____
18.
About ____ of the world fish harvest is used primarily as animal feed, fish meal, and oils.

	a.
	1/2

	b.
	1/3

	c.
	1/4

	d.
	1/5

	e.
	1/6


____
19.
Which of the following is a negative feedback loop?

	a.
	Population growth occurs in cities. Food prices are kept low in cities to prevent political unrest. More rural poor migrate to cities.

	b.
	People pay taxes. Farmers receive subsidies from the government. Farmers produce more food. Food prices are low and profits are low. Food is exported, discouraging farmers in importing countries. People pay more taxes in producing countries.

	c.
	There is a high rate of population growth. People are taught and helped to implement sustainable agriculture strategies. More food per capita is produced. Infant mortality drops. The rate of population growth drops.

	d.
	Population growth rate is higher than food production rate. Food aid keeps people from starving. Population growth rate stays higher than food rate.

	e.
	All of these are positive feedback loops.


____
20.
The progressive adaptations made in predator and prey species as a result of their dynamic interactions is called

	a.
	natural selection.

	b.
	evolution.

	c.
	coevolution.

	d.
	creative selection.

	e.
	divergent evolution.


True/False
Indicate whether the statement is true or false.
____
21.
Traditional subsistence farming techniques are less efficient than large-scale farming techniques.
____
22.
People worldwide are unable to purchase or to raise enough food to meet their nutritional needs.
____
23.
One way to develop sustainable agriculture is to reduce poverty.
____
24.
Plantation agriculture used primarily to reduce soil erosion and restore soil fertility.
____
25.
To increase crop yields, farmers use crossbreeding, genetic engineering and polycultures of perennial crops.
____
26.
Traditional agriculture is less productive but is practiced by almost half of the world's population.
____
27.
Malnourished individuals may become more prone to infections, and eventually may develop a specific deficiency disease.
____
28.
The problems associated with overfishing and a decline in the fishing industry is often referred to as an example of the tragedy of the commons.
____
29.
Home gardeners customarily use organic fertilizers more than commercial farmers do because of their high cost per pound of actual nutrient element.
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